113 7 8 22 28 “ ”
FRINEIAXEENER ue
YL L L A T, SN . i
T A0, B0 et 1.0 F AT iL=m
AN S G R W L S, o ARL L i L]
L W e e PO F LTSRS CHT TRt B AT ELben G N
O E TEE WL T I ECNEE NS TLAT, Rl
BT L M BT T, R L L E '
RS FRL-ERE AN CERSE TPOT. L ime AR s T
o
.
Ty :
i T .
e
E1 aNoSTEaEas 1= EE Wy

Iy

N=dny  T0wi]
1.5l L

|.fml L

L 0.5l L

fi TR
i R
B W T VT el 2 T8
wlaad

3-2



8 8 31 AM
9 1 PM

SEEshin, 7E2a8 kYT |
ETREO2Er—FrSMEER |
L. 18—k, 385 —FOEIZ,
BHESEZSMLEL,

-8B 1B1481 05 LYTERAR
Eo3sr—rroMEEmEL.
184 =k, 285 —FOMIZ156

4451 2MLELS. 2\
20 8 20 9
ry DO !
-
X 4.3mg/I = 4]
A 7.9mg/1 - ) 2m
A { .
- 111
No.34 15m 17m 0 7.9ma/l
71
19
DO 4.3mg/I No.82
(2005 )
T2 - )
( )
< = — " =5
15m 1.3m i~
T84 \No.s& 20m "™ - 24m No82
266 | 28.1
10.7ma/l 262 |
Y DO [ 9.3ma/l DO
268 | 26.0
10.3ma/l 299 |
DO 2.2ma/l DO
No.34 100m 28mNo 46 100m 13m | INo58 100n 22m No82
212 284 7.7 :
223 67 57 2
DO [10.ima/l] 50 [ 13.0ma/ 50 | Boma DO_| 10.7mo/ &
215 n 63 265 3
268 | 72 88 214
DO | 32ma/l DO | 7.6ma/l DO [ 23ma/l DO ] o5ma/l |
No34 300m tmog 3 No58 300m 22m No82 18m
213 73 %6.4
222 a0 2
DO 12.71an| DO | 68ma/l DO | 5.3ma/l
2L . 6.7 256
DO [ 6.4ma/l =y 15 319
L A0 DO | 22ma/l DO | 1ima/l
No34 200 20 30cm No58 500m 20m No82 500m 17m
17 30cm 75,21 :Jsﬁé;
DO .%r;a/l DO 5.2ma/l DO 4.2ma/l
/ 2] R 55 196 G / oL o
DO .0ma/| R LF DO | 1.5ma/l DO | 0.4ma/l 3 4
—0 4 9 3 9 2




00

0.2m

H.W.L. AP+2.10m

L.W.L. AP+0.00m

25
1 5 8 1 15 18 2
H18 3 H18 9 |H19 1 |H19 4 H19 H20 1 H20 4 H20 9
(
( )
4 2 5 4 7 3 6 6
8
11
) (3) (1) (0) (0) (3) (0) (1) (2)
12.0 26.0 11.4 14.3 31.1 8.3 12.9 30.3

3-6



4
4 4 8 132 12
4 16 8
4
4
20
4 4 4
4 ]
8
4 8 8 16 8 188 | H20 9
8 8 4 4 32 16 96
4
4
8
(S
100 f >
90
80
70
60
50
40
30
o
[ ==
H18.4.1 ‘ H18.9.21 H19.1.22 H19.4.17 H19 8 H20 1 H20 4 H20 9
1 5 8 1 1 5 1 8 2
[= m m = | el
4
4 96 32 112
12 8 12 20 4 ]
12 36 32
4
24 20
4 16
4
80 [ S
70
60 |
50 [
40
30
20
10 i .
0 |
H18.4.1 | H18921 | H19.122 | H10.4.7 H20 1 | H20 4 | H20 9
1 5 8 1 15 18 2
[m o D m 3-8




64 164 8 40 684
12 4 L
8 10
4
4
8
80
70 : P
60
50
40
30 —
20 =
= =
10
: — 1
H18 4 H18 9 H19 1 H19 4 H19 8 H20 1 H20 4 H20 9
1 5 8 1 1 5 1 8 2
= O O m m \
3-9
80
60 ' T
40
i - ]
0 = |
H18 4 —P'HB 9 H19 1 H19 4 H19 8 H20 1 H20 4 H20 9
1 5 8 1 1 5 1 8 2
m o o \
80 [ ]
60 ' T |
40
20
0 ‘
H18 4 THlS 9 H19 1 H19 4 H19 8 H20 1 H20 4 H20 9
1 5 8 1 15 1 8 2
E = o \




30m

DO[ H
%o | /L
H18 3 12.0 [30.6 [10.1 ] 8.2
1 H18 9 26.0 274 53] 7.6
5 H19 1 114 (314 | 7.1[ 7.9
8 H19 4 143299 7.8] 83
1 H19 8 311261 78] 7.8
1 5 H20 1 8.3[32.0[ 7.7 [ 8.0
1 8 H20 4 129310 | 6.4 8.1
2 H20 9 30.3] 9.9 (132 84
100m
DO H
H18 3 110 [10.9 [31.0 [31.0 [105 [104] 8.2 8.2
1 H18 9 247 247 [27.0(28.0 | 45| 44| 76| 76
5 H19 1 115|116 [31.0[31.0] 69| 70| 79| 79
8 H18 4 |142 [14.3]30.0 |30.0 [10.4 [10.2| 86| 86
1 H19 8 2971299 [258126.0 78| 7.7] 79| 79
1 5 H20 1 73] 83[320]33.0] 70| 68] 80 80
1 8 H20 4 12.7 31.0 7.0 8.1
2 H20 9 28.4 (265 [22021.4|106] 95[ 81] 80
1 8 H20 4 100m 0.3m 1 3_11
1-3
1 8 1 5 1 8 2
H18.4.1 | H18.9.21 | H19.1.22 | H19.4.17 | H19.8.27 | H20.1.25 H20.4.9 H20.9.2
0.53 0.21 0.41 1.24 0.83 0.62 1.04 0.62
0.07 0.10 1.24 1.45 1.04 1.45 1.86 0.62

0.62






3-15

4

@ H20 9

3-16



1 5 8 5 8 2
(H18.9) | (H19.1) | (H19.4) | (H19.8) (H20.1) (H20.4) (H20.9)
1 2 ! 2
1 2 2 2
3-17
1

3-18



sz s Mah\q<

#+0.5m
20 . o
A.P_(m) No.82
6 [ [
5 H18 3
4 H18 9
3 H19 4
, H19 9
H20 4
! H20 9
o r I
_1 r
_2 r
-3
20 -10 0 10 20 30 4 50 60 70 8 90 100
(m 3-19
18 3 20 9 3 2
- . - i i
B R N ™ i v
i e -
"\.‘.
o1 a3,
0.2 03 o0 0.1 0z B2 At
e .MI
o1 ¥ L] 42 02 -0z At a
02 ; s
oo | 0z a1 0m -l Ed
i
0o £.1 02 0z 3 02 0. fon
02 01 o3 0s o4 02 03, _:
0 a1 00 oo o1 o1 02,
; .
an
o1 ] a1 0.0 0o a1 *-‘r.'l,m5
o1 0o (i %] o1 oo oo 0a
ook 3-20




" e W hem
18 4
No.82
60% [ 1
19 9 wH H H H H H H-H H H H
20% L I~ L L 1 [
oy =L L 1 —
100%
0% W iH R
8 0% | Lalt S
19 4 0% DiE ﬁ?i‘}
- O Ebr
Ry
1000 e p
80% D-:_(”_..l-. ;?
o | O¥st5
40% |
19 8 o =
22 26 30 40 50 60 70 80 90 100n 3-21
No.82
-~ H18 4 —+—H19 8 1
——H20 4 1 8 —=H20 9 2
40
=
22 26 30 40 50 60 70 80 90 100
R < > (< ble——»
R Y
Nog2 ‘———= 3-22




22m 30m
10 30%
40

20

80m 100

0.5m
20 9 1 10 31 60




e 10

) L
9 1 10 1 10 20 31
0.8 [TTTTT T TTTTIT]
© 26 6 )
0.6711 " Hpax  0-55m
Hys 0.33m
0.4+1 |- . / N245<E
" 027 | MR AN ARARARD FARRSARRRLITAAE AR
W ,“v’ # u\ M "yv,‘ Vk{"\ ’ I/ ,‘,“
0.0 :
m sec
H18 3 0.09 2.7
H18 9 0.08 2.6
H19 3 4 0.11 2.6
H19 9 0.11 2.6
H20 3 0.09 25 0.1m 2.5
H20 9 10 0.08 2.6
3-25

H18 3
(1 )
H18 9
@ )
H19 3 4
@ )
H19 9
(1 )
H20 3
@ )
H20 9 10
(@ )




0.5m

/sec
1 31
40
30 1
20 T
10 A 11
0 LMJ
cm/sec
40 Tj
20
20
40
H18 3 (1 ) 3.6
H18 9 (1 ) 4.6 /
8 H19 3 4 (2 ) 4.2 4cm Sec
1 H19 9 (1 ) 5.6
18 H20 3 4 (2 ) 4.1
2 H20 9 10 (2 338
( ) ] 3-27
0.5m

ENE
E W (X
WSW .
S A
ON Ne
HI8 3 (1 )
HI8 9 (1 )
8 HI9 3 4 (2 )
1 HI9 9 (1 )
18 H20 3 4 (2 )
2 H20 9 10 (2 ) 3-28




A.P.(m) No.46
¢ \ [
5 H —H9 4 |-
N H19 ( —HI9 9
AR \ —H20 4 [
3 —H20 9 ||
’ I \
1
( No0.46) |
LT //
w/‘
-2
-10 0 10 20 30 40 50 60 70 80 90 100
m
AP.(1) No.58 L-2
6 ‘ \ \
5 H20 6 ( ) | o4
4 l —HI9 9 ||
T ‘\ —H20 4
3 \ —H20 9 |
( No.58) 2 \
. \
X ~__
’ ZNDAE) NLu-gs) 1NuBZ) - T~
-2
-10 0 10 20 30 40 50 60 70 80 90 100
m 3-29
H20
m
20 4 2
H19 .
< a3
3 b
2
NoB3+134m+15.0m ,_
A-P.(m N0.83+13.4m+15.0m
5
B —H19 4 i
—H19 9 3 9 |
s HI9 9 18 9
2 —H20 4 N
1 —H20 9 -
0 —
-1 —
-2
" ! !
0 10 20 30 40
(m 3-30



) Yot
" s
2 L-2 1 :
No.46) No58) Nos2) .
( No.46) : .
R
100% S — 100% —_—— —
80% H H H 80%
60% 60%
40% 40%
20% — —1 20% [
o% . . . . . . . . o
22 26 30 40 50 60 70 80 90 100 22 26 30 40 50 60
19 8 oo
100% e -
80%
80% Moo
60%
60% oo
40%
40% Moo
L 20%
20% Ao
o% . . . . . . . . 0%
22 26 30 40 50 60
22 26 30 40 50 60 70 8 90 100
(m) (m)
e Yo =)
. —m o H
. s 1
LAY =3 [
2 \
\
: \
. 2
®
100% S E=E T
80%
60% —
40%
20% — =
0% . . . . . . .
10 30 40 50 60 70 8 90
100% e | 100%
80% [ 80%
60% 60%
A0% L 40%
20% —
20%
% . . . . . . .
10 20 30 40 50 60 70 80 90 100 o




500m (3

1 (uos2) 1om 1 (=) 1son T (s 200m T (we) 2om T (g2 400m 1 (Nos2) so0m
1 w04 Lon L Lon w04
- oy o o o oy
6 Hooeow H oo H oo o 1 e
5 - H oo H o H o o
E 4l = - o Y ) £
NO.82 & i\l e | ® " " " "
: < 2f { H20 4 o 9 W0 4 iz 9 W20 4 1o 9 W0 4 w0 9 WO 4 W 9
1
0
-1
-2

L-2(iese) 1oom Lagiss) son |
1008 1008

o o
on on H

e o

=
=
1)
o
Y

L2(noss) 300m

H ™ s acom
1008

1008
o
on
e
e
o0
s

No.34

1008
aon
son
aon
208
o

(m)
w3 00m apw3050m anasm00m s 0o [T T
1008 1008 1008 " 1o
oo won aon M o o
o

AP.(m)

L-3

4-1

3-33

-
2 L-2
No.46)  No58)

H.W.L. AP+2.10m _

L.W.L. AP+0.00m -

¥

0.25

H19 4

H20 9

10

3-34




4—2 2 L-2 1
No46) No58) No82)
s
/
/
No.81)
0.25
H19 8 H20 9
4
10
8

3-36




No0.58)

(

L-2

4-3

0.25

H20 9

H20 4

3-38






